Progress Test 3 – Business Finance
Question 1

Techfools.com has just issued convertible debentures with an 8% per annum coupon to the value of $5m. The nominal value of the debentures is $100 and the issue price was $105. The conversion details are that 45 shares will be issued for every $100 convertible debentures held with a date for conversion in five years exactly. Redemption, should the debenture not be converted, will also take place in exactly five years. Debentures will be redeemed at $110 per $100 nominal convertibles held. It is widely expected that the share price of the company will be $4 in five years’ time.
Assume an investor required return of 15%.
Ignore taxation in your answer.
Required:
(a)
Briefly explain why convertibles might be an attractive source of finance for companies.
(4 marks)
(b)
(i)
Estimate the current market value of the debentures, assuming conversion takes place, using net present value methods and assess if it is likely that conversion will take place.
(5 marks)
(ii)
Identify and briefly comment on a single major reservation you have with your evaluation in part b(i).
(2 marks)
(c)
Explain why an issuing company seeks to maximise its conversion premium and why companies can issue convertibles with a high conversion premium.


(4 marks)
(d)
Discuss the factors to be considered by a listed company when choosing between an issue of debt and an issue of equity finance.
(10 marks)


(Total 25 marks)

Question 2
Arwin plans to raise $5m in order to expand its existing chain of retail outlets. It can raise the finance by issuing 10% debentures redeemable in 2015, or by a rights issue at $4·00 per share. The current financial statements of Arwin are as follows.
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The expansion of business is expected to increase sales revenue by 12% in the first year. Variable cost of sales makes up 85% of cost of sales. Administration costs will increase by 5% due to new staff appointments. Arwin has a policy of paying out 60% of profit after tax as dividends and has no overdraft.
Required:
(a)
For each financing proposal, prepare the forecast income statement after one additional year of operation.
(5 marks)
(b)
Evaluate and comment on the effects of each financing proposal on the following:
(i)
Financial gearing;

(ii)
Operational gearing;

(iii)
Interest cover;

(iv)
Earnings per share.
(12 marks)
(c)
Discuss the dangers to a company of a high level of gearing, including in your answer an explanation of the following terms:
(i)
Business risk;

(ii)
Financial risk.
(8 marks)



(Total 25 marks)
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